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| Do not write
Answer all questions in the spaces provided. i~
Many foods contain carbohydrates.
Figure 1 shows information about four different foods.
Figure 1
I Beans Chicken Key
D Carbohydrate
‘ - Protein
v/ Fat
m Water
Orange E
!
Byl0 =7 T / o
[0]1].[1] Which food contains the highest percentage of carbohydrate?
[1 mark]
Tick (¥') one box.
}
Beans
Chicken
Orange
/‘
Rice
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[0]1].[2] Estimate the percentage of water found in beans. e
[1 mark]
- X 4
J&,)C\a v= /° Percentage = - =1 %

[0]1].[3] Look atFigure 1.

Why would eating only beans provide a more balanced diet than eating only chicken?
[1 mark]

Beans vata:rx all 4ne ;ﬁamf 3M?g.
Chiccen  cmtaig  Less Carlohy draty

' [0]1].[4] Sugars are produced when enzymes break down starch.

What is the name of the enzyme which breaks down starch to produce sugars?
[1 mark]

Tick (¥') one box.

I

Amylase \/1 ﬂ&jey(,‘ Lg-[-arcﬁ« wito 3{uco§<, |
Bile - n.euwl"‘s o C:‘OHB af &Rﬁ"‘u‘

Lipase _ d{ﬁ@{; Lt?fco 4

Protease - A“TJ‘{S Pmt@lrz._f

[0]1].[5] Wnich chemical could be used to test for glucose?
[1 mark]

Tick (v') one box.

L~
Benedict's reagent L

Biuret reagent ,«t.ej‘fs P\'c{'-emJ
lodine solution -——-bp}‘f's 6‘("’W'VL
Sulfuric acid —net- A \‘mﬂ,@'\?{' e,u( | ]‘bd( et

Turn over b
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[0]1].[6] What colour change would be seen in a positive test for glucose?

[1 mark]

From blue to O r&\’t)‘ e

[0]1].[7] People with diabetes have difficulty controlling the concentration of glucose in
their blood.

The blood of four people was tested.

Table 1 shows the results.

Table 1
porson | Copeentation of glucose i
A 4.2 4 LouJ?.)"’
B 8.9 le ‘Q‘[
Ve 7.1
D 5.1

Table 2 shows the information used to help decide if a person has diabetes.

Table 2
Concentration of
glucose in blood in Conclusion
arbitrary units
<5.6 No diabetes
56t07.0 Mild diabetes
>7.0 Severe diabetes

Which person has severe diabetes?

Tick (v') one box.

/

A B c d D

oS

L“{; lu . uaajnark]

0 4
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Figure 2 shows part of the human digestive system.

Figure 2

—— L

C/}x
"

\

Y

e (

”5”
“ AL

{

7

[0]1].[8] Glucose is absorbed into the bloodstream in part X.

Name part X.

[1 mark] |

Soogl| wlheshne Cl ”-l?-LLrn) |

@ Complete the sentences.

Choose answers from the box.

[2 marks]

active transport digestion excretion

osmosis respiration

Some glucose is absorbed into the bloodstream against the concentration gradient by

the process of achve Ton S*t?a rt

Water moves out of part Y and into the bloodstream by

the process of OSrog [

Turn over b
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An animal called an axolot! lives in water. box
Figure 3 shows an axolotl.
Figure 3
Oxygen enters the axolotl's bloodstream through the gills by diffusion.
|I| What is diffusion?
[1 mark]
| Tick (v') one box.
|
The movement of particles from a high concentration to a low concentration v

mement of particles from a low concentration to a high concentration

@choe Jzmsyott )

The movement of water from a concentrated solution to a more dilute solution

[1—] Describe how one feature of the axolotl's gills increases the rate of diffusion
of oxygen.

Use information from Figure 3.
[2 marks]

Feature é‘l\“S’ L')G,U_Q mam_j PW"’-?C‘*'U'V)J

Description /r g lncrERsSe ¢ a-c-ll-tCQ areg puor whi

_ﬁggegorc_accﬂxa'gécg

06
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If a gill of an axolotl is removed, stem cells in the damaged area will divide and a new
gill will grow.

E Complete the sentence.

Choose the answer from the box.

[1 mark]

adaptation differentiation evolution variation

When stem cells specialise to produce gill cells, this process is

3 known as dlﬁ@'reﬂ'b alion

E] Complete the sentence.

Choose the answer from the hox.

[1 mark]

binary fission mitosis mutation

To grow a new gill the stem cells divide by m \'L'qs‘c =

E Which one of the following does not contain stem cells?
[1 mark]
Tick (v) one box.

Bone marrow

Embryos

Hair L]

Meristem tissue

l

|
Turn over »
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E] Axolotls are small animals. Axolotls are used in stem cell research. e

What are two advantages of USing axolotls in stem cell research?

[2 marks]
Tick (¥) two boxes.
\/ ’ p w’ '{‘” 6{
Axolotls are cheap to feed. -~ Cot 15 lo ’Fef

Axolotls are easy to breed. =i 3[—1% ada Pfhbl-@

Axolotls are endangered.

Axolotls live in water.

Axolotl research is cruel.

L
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Oxygen uptake in humans takes place in the lungs.
Figure 4 shows the human breathing system.
| 7| Wnere does oxygen enter the bloodstream?
[o]2] —
Tick (') one box.
e
A B c D
) Name part E on Figure 4.
[0]2] —
Arachen
E Which blood vessel carries blood to the lungs?
[1 mark]
Tick (v') one box.
Aorta
L~
Pulmonary artery v
Vena cava

09

Turn over »
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This question is about leaves. box
[0]3].[1] Complete the sentences.
Choose answers from the box.
[3 marks]
epidermis | phloem palisade mesophyll
waxy cuticle xylem

The layer of cells lining the upper surface and lower surface of a

leaf is the 4 \r_)‘cf.erm (s

I

The part of the leaf where most photosynthesis occurs

is the ,{)ﬂ,[“.ﬁdﬁ(—@ m-25a'lp|wﬂ]\.

Vater is transported to the leaf in the 7(\{ l g2m
I

Water is lost through small openings on the lower surface of plant leaves.
These small openings are called stomata.

Figure 5 shows two stomata on the lower surface of a leaf.

Figure 5

10
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[0]3].[2] Thecells labelled X control the width of the stomata. box

What are the cells labelled X?
[1 mark]

Tick (v') one box.

Guard cells

| Mesophyll cells ,(‘qu{
Root hair cells_. (‘[a

Stem cells _ ’P‘LCE

E] What is the function of the stomata?

E [1 mark]
i Tick (¥) one box.

To allow light into the leaf ¢ udti cke

To let carbon dioxide into the leaf v’/

To let sugars out of the leaf

[ Hilaera

To protect the leaf from pathogens

QC 7 H‘*&\-e)

E] How is water lost from a leaf?

| [1 mark]
| Tick (v') one box.

By evaporation \/ [

By respiration

By translocation
C? -\ranf(‘?mq: of j‘EoJ
L

Turn over b

1B/M/Jun19/8461/1F



12
A student investigated the volume of water lost from two plants.
The plants were different species.
Figure 6 shows the student’s resulits.
Figure 6
144
Volume 121~
of water
Iosg in :
cm 104+t
Time in hours
i
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[0]3].[5] Calculate the difference in the volume of water lost by plant A compared to plant B in
the first hour.
2 [2 marks]

(é-a - {-a‘)amq’ — 4o

Difference in volume= ‘1— cm

[0]3].[6] Whatcould cause plant A to lose water at a faster rate than plant B?
[1 mark]

Tick (¥') one box.

Plant A has fewer stomata per leaf.
C’-—) ho -Luilenle
Plant A is smaller.
( : @
Ne &v l&”“ - Uaﬂ_@r‘
lant A has more leaves. / - ?l arts loosz o
W 5
f Plant A has smaller leaves. o %

C; Ho -éu;dﬂll@ ’(tw manj Y \-ﬁ')‘-"-
+le mae pwadec «© log

_ After the first 2 hours, both plants were moved to a new room.

Suggest one reason why both plants lost water at a faster rate in the new room.
[1 mark]

The mew ~ABom wag less hemid
new NYeom wWAg Weerree

Question 3 continues on the next page
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' [0]3].[8] Some plants have adaptations to stop them from being eaten by animals. | box
! ;
| Figure 7 shows part of a holly plant. 1}
E
Figure 7 f
‘ 1
! ?
|
!I
|
|
|
}
i
|
Fi
|
| |
' {
!
| |
| |
|
Describe one way the holly plant is adapted to stop it being eaten by animals. ’
| [1 mark]

{ - The SD-W?S on Us 5w11‘?«‘3€ d@(@r l—,.ng(Vd"
{ "“3-6 Leaue{ Adse Gvard’e'r rfp( tro If\_ﬁbUQ@s 1
!

Yo chew

L
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A student investigated respiration in yeast. e

This is the method used.

1. Add 5 cm’ of a yeast and water mixture to each measuring cylinder.
2. Add different masses of sugar to éach measuring cylinder.

3. Mix the contents of each measuring cylinder gently for 5 seconds.
4. Put the measuring cylinders in a water bath at 25 °C

5. Over the next 20 minutes, record the maximum volume the foam reaches in each
measuring cylinder.

Figure 8 shows the student’s results.

Figure 8

Volume of
foam

Volume of
mixture -

0 g sugar 1 g sugar 2 g sugar 3 g sugar

Key: [l Mixture [ ]Foam

e
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[0]4].[1] Which two variables did the student control in the method?
[2 marks]
Tick (v') two boxes.
Mass of sugar
pH of the mixture
!
| Temperature |
|
Volume of foam |
5 Volume of yeast and water v
Table 3 shows the results.
Table 3
1 Mass of Maximum
sugaring volume in cm®
0 5
1 23
2 X 1;
< 31 ‘
| ; What is value X in Table 37 -
2] G+ab=38 |
Use Figure 8. '?
[1 mark]
X= A€ cm?®
Question 4 continues on the next page
|
|
Turn over »
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In the investigation, the yeast respires and releases a gas which causes the foam box
to rise.

Es] Which gas causes the foam to rise?

Tick (v') one box.

[1 mark]

-
Carbon dioxide /

Hydrogen !

Nitrogen

Oxygen

- ‘pu-:c’of by ~ To P’D‘g"’(i Cc:|
Glusese & 7 L ecio] !

[0T4].[4] Whnat conclusion can you make about the relationship between the mass of sugar
used and the volume of gas produced?
[1 mark]

The gmw&ar e mass of Sugmr The

[ 7

jraam&nr the voleme e(_‘ —faern Pra:ﬁu@d.

S

[0]4].[6] Wny was no foam produced in the mixture with 0 g of sugar?

Ne ms?(rwﬂrm trow ?lac_e

[1 mark]

[0]4].[6] Whywas the measuring cylinder with 0 g of sugar included in the investigation?
| [1 mark]

& wes sedf up as a  Cenivol

18
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?

e

[0]4].[7]

The top of the mixture can be covered with a layer of oil after step 3 in the method.

Suggest why the layer of oil stops the yeast respiring aerobically.
[1 mark]

oil SPs the ouuen from gethng nte
t = J v )

Ahe  measing  Cylindor
J )

What other substance is produced during anaerobic respiration in yeast?

M

[1 mark]
Tick (v) one box.
L
Ethanol e
Hydrochloric acid
Lactic acid
Water
Turn over‘ for the next question
Turn over »
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[oT&1[1]

[o]5].[2]

A man has the following symptoms:

« yellow discharge from his penis

= pain when urinating.

The man has a bacterial infection.

What is the most likely cause of the man’s symptoms?

Tick (v') one box.

Gonorrhoea V/

HIV

Measles

Salmonella poisoning

The man took a full course of antibiotics.
The man’s symptoms did not improve.

Why did the antibiotics not cure the symptoms?

Tick (¥') one box.

The bacteria are immune to the antibiotics.

The bacteria are resistant to the antibiotics. v

The man is immune to the antibiotics.

The man is resistant to the antibiotics.

M

[1 mark]

[1 mark]

1B/M/Jun19/8461/1F
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[0]5].[3] Using a condom can stop the bacteria being passed to another person during hox

sexual intercourse.

Suggest a different way the man could avoid passing the bacteria on to
someone else.

[1 mark]

Abstan /I{:rum Sexual rtercouse

Question 5 continues on the next page

Turn over »
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A scientist investigated the effect of three different antibiotics on three different types
of bacteria, A, B and C.

This is the method used.
1. Grow bacteria A on an agar plate.

2. Put three separate paper discs each containing one of the antibiotics
(1, 2 and 3) onto the agar plate.

3. Put the agar plate into an incubator for 48 hours.
4. Repeat steps 1-3 for bacteria B and for bacteria C.

Figure 9 shows the scientist’s results.

Figure 9

Area where bacteria

Bacteria growing are killed

Paper disc

Agar plate containing Agar plate containing Agar plate containing
bacteria A bacteria B bacteria C

2 2

1B/M/Jun19/8461/1F
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[0]5].[4] Compare the effectiveness of the three antibiotics at killing the different types box
of bacteria.
[6 marks]

— b biehc D wowks best- o~ e bacteriaa
tk e He lowaort eeq ohe® pactecs A wac
1« ol Leds

_ Atbehe | Wil more of B and & conpa o/
A 1k has logest acen Slere B and &
are K.‘\\-é'd)' -

—Anbbiehic Q Wil  moe ef, G oo A
L wocs best on C. i
— 2 mrf 2 willed Swmnlor Gmoards o7 A my_—:f&
Bactens ¢, s Tesishnt 4 %EQL%(
L __wag willed arhhSHec £ .
© B woacs begt i A, bt | s Leest epoq,
on A "

— & wonks best in G lou:t:LQ:s*f éfre
M E 5

v

Question § continues on the next page
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Milk contains bacteria.

A small volume of raw milk was placed in a counting chamber in a special type of

microscope slide.

Figure 10 shows what the counting chamber looked like when viewed using

a microscope.

Figure 10

0.1 mm

A

v

0.1 mm s

v

Key
* Bacterium

A scientist counted the number of bacteria in four samples of raw milk.

Table 4 shows the results.

Table 4
Ml cimple in counting chamber
& 15
F 12
¢ 13
H 16

[0]5].[5] Which milk sample is shown in Figure 10?

Tick (v) one box.

Sample E

Sample F

Sample G

Sample H

7

[1 mark]

L
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[0]5].[6] Calculate the mean number of bacteria in the four samples in Table 4.
[2 marks]
(5412 + P4 "7__ = 565 — 4
/f ) rd L+‘ ,
(B
Mean number of bacteria = [ Yy
[0]5].[7] Calculate the mean number of bacteria per mm® of milk in the samples.
Complete the following steps.
[3 marks]
Calculate the total area of the counting chamber in Figure 10.
o'\ Xo:l = e-o0f
Jolume — e-clx o-DIl = p-co00Ol
Total area of counting chamber = ©- 0O ' mm?

The depth of the counting chamber is 0.01 mm

Calculate the volume of the counting chamber in Figure 10.

Use the equation:
volume = area x depth

\)olu,rnﬁ’:- 0~°lxo.0’ — o 000

Volume of counting chamber = e OO0 / mm°

Calculate the mean number of bacteria per mm?® of milk in the samples.

Use the equation:

mean number of bacteria from Question 05.6
volume of counting chamber

4 5 o000l = yooo0

mean number of bacteria per mm? of milk =

Mean number of bacteria per mm? of milk = (4O, 600

Turn over »
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Milk is heated to reduce the number of bacteria it contains before it is sold for humans box
to drink.
Milk with more than 20 000 bacteria per cm® cannot be sold for humans to drink.

Table 5 shows the number of bacteria per cm? in four different samples of milk.

Table 5

| Milk sample Number of bacteria per cm® of milk
P 1.8 x 10*

2.2 % 10 |

22x107

1.8 x 10°

w (O

' [0]5].[8] Which of the milk samples could not be sold for humans to drink?

‘ [1 mark]
Tick (v) one box. -

p a v’ R s

[0]6].[9] Why should milk sold for humans to drink not contain large numbers of bacteria?
[1 mark]

1he backera could mave ——— 1

2 6
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Figure 11 shows the internal structure of the human heart. box
Figure 11
é |
=
[0]6].[1] Wnich organ system is the heart a part of?
[1 mark]
ClrCuladoy sy st-enn
[0]6].[2] Drawaring around one valve on Figure 11.
[1 mark]
El What is the function of the valves in the heart?
[1 mark]
Pr—eu.en{’ bk flews orf b loocd
I : ;
Question 6 continues on the next page
Turn over »
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[0]6].[4] Valves are also found inside some blood vessels.

Which type of blood vessel contains valves?

Vel

[1 mark]

Sometimes a valve in the heart can begin to leak.

A leaking heart valve may be replaced with either:

¢ a mechanical valve
« a biological valve from a pig.

Table 6 shows information about the replacement valves.

Table 6

Mechanical valve

Biological valve from a pig

Made of plastic or metal

Made from living tissue

Can cause the blood to clot around
the valve

No risk of blood clotting around the
valve

No need for another replacement
valve after 5 years

Sometimes another replacement
valve is needed after 5 years

Suggest two reasons why a patient may choose a mechanical valve

and not a biological valve from a pig.

Do not write
outside the
box

[2 marks]
|

1 The mblﬂt fﬂﬁts rot reed to fapL

immunosyresise reas

’F‘:\-ef('sr"w

2

5

</
CF As-arce temsm

'S cOr

2 8
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[0]6].[6] Suggestone reason why a patient may choose a biological valve from a pig and not
a mechanical valve.
[1 mark]
- . '
’TF-»-ece 'S ho n.ezd Ae 'f:‘?b@ an-c-(a'l‘hg
medicatien -
[0]6].[7] A person may develop other medical conditions.
Draw one line from each medical condition to the correct treatment.
[2 marks]
Medical condition . Treatment
Antibiotics
High blood cholesterol «
Artificial pacemaker
Insulin
Irregular heart rate
N~ Statins
Turn over for the next question
?
Turn over »
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0]7] Figure 12 shows an animal cell viewed using a microscope.

Figure 12

[1] The cell contains a nucleus.

What is the function of the nucleus?

[1 mark]
Lodrels achvibles of the cell
I
[0]7].[2] Name one type of cell that does not contain a nucieus.
[1 mark]

Q_eA b [0 059 C.Qu

M
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[0]7].[3] Draw a simple diagram of the cell in Figure 12.
Label two parts of the cell.
[2 marks]
mr[D chenr o
Naelews |
|
albbSW\o 3
|
Lell merbrane
[0]7].[4] Name one structure found in a plant cell but not found in an animal cell.
[1 mark]
Celluloge  catl wall
Question 7 continues on the next page
Turn over »
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Figure 13 shows some different cells.

Figure 13

[0]7].[ 5] The real length from point X to point Y is 0.06 mm

Calculate the magnification.

Use the equation:
size of image

real size of object

magnification =

q [3 marks]
Ve4-mm — «4-FCm

L_e,‘%“r el Xy = o comm
Magnih g eleern = 3&, = X400
- o-ob

Magnification = x 4o O

L
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[0]7].[6] The cells shown in Figure 13 were viewed using a light microscope. box
Give two advantages of using an electron microscope instead of a light microscope.
[2 marks]
1 tHigher maanification
[ 7 |
2 -H"g(r»ea’ ~25 plutiem
10

Turn over for the next question

Turn over p»
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A bacterium

Tick (v') one box.

What type of pathogen causes malaria?

Mosquitoes carry a pathogen that causes malaria.

Mosquito nets can help prevent the spread of malaria.

Table 7 shows the results of a study in one area of Africa.

Table 7

[1 mark]

Percentage of people with

Number of malaria

Total people who '

number of use Who do
people Inthe | mosquito Who use NOT use
study nets when mosequito mosquito
sleeping natewien | o alhen

sleeping
sleeping
476 426 1.2 40

A newspaper made the following statement:

[0]8].[2] Give one piece of evidence that supports the statement.

There

‘Study shows mosquito nets are scientifically proven to prevent malaria.’

[1 mark]

5 Oa«—czrrf:aq-e, Q_{,?—P&()(-e, el

h-eds

M

Ma) aria LLH’I-Dn uétrB mOSQU-({‘D

1B/M/Jun19/84611F
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[0]8].[3] Suggestone reason why the statement may not be valid. box
[1 mark]

Somie, ?«?&?‘—& whe wuge moS qq-t"figjﬁf__fn
have mglovia
~Dabe s ,‘:;_,,,,. WB o ouea

Table 8 shows information about the number of deaths from malaria in the same area

A4

{
l
|
!
i

of Africa.
Table 8
Number of deaths
Year from malaria
per 100 000 people
2005 161
2007 136
2009 114
2011 97
2013 94
2015 92

[0]8].[4] Predictthe number of people per 100 000 who died from malaria in 2017 if the trend
stayed the same.

[1 mark]

€%

Number of people per 100 000 = g 74

[0]8].[6] Use of mosquito nets has helped to reduce the number of deaths from malaria
each year.

Suggest one other reason for the reduced number of deaths from malaria each year.
[1 mark]

lm?fbufo( health care
MDSanfO nets  wert e by zewio|
malarva

Turn over »
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_ Describe how the human body:
« prevents pathogens from entering
« defends itself against pathogens inside the body.
[6 marks]

,Tke SKin acts as a ba,rn'-er ']‘Dr tke
ety o,}{, fnl-ha\.ens wite %o body- Sebum
an __ Skn 6uo:J(—&Cc YMS Da:ffmqens‘ on SKin'
""rf\e 4‘5\4414 pucb-u’ (a,q-ﬂr 64— Ct(m Ls‘ drv

40 Yok Dﬁrd A:en'f pas‘f M r(

[nca;e fo- lhrur\l 3 Fl‘t{‘&% CD"“S-Q %

50 that v«;&ggen; Do nd enter e bod.,.
—The Stk odute hydrechlonc aclf

theet  ills Dwfhoqens H —fboa@
—The eyer on::iLcé -é,—ec»rs tHhat Cn'n‘ﬂ

3—[~,c. ene’iljuc:-:.er et lsill Dz cters -
—~ The Amchea has poblef Llis bl

J
5-90!—@#95 Mecus:” 71-6 MeCey € 7'*"=?r3 Tive

backeria tHo tr-;lnale{ ace* '_Re muLe
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oue rouvaf b, beghe, 4«[—'[(4
lmmwxc C‘Glé L'\au.eq Wi\c’t’e 6M el

whech -enauLF and d-ﬂS'hBu Pdﬂfﬂcfens

The lqmphac«:tasfwac) —;mduc; ~anbbed;

quam;}) arrba-ans lz}"tte ng"%irz,S:Ajééa-

lmrnu,nz HS%W W?e.:an:xgaj_ls Y=oy
'(;) blod{ &chubjld)-. 1= d-eS‘l‘rOu tHe

a:tﬁ'%ef?s [h-e S-eovhJDn;/ ¢H‘)n-r(_u\(
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e

This question is about photosynthesis.

[0]9].[1] Complete the word equation for photosynthesis:

[2 marks]

é) ['-‘Cf"[e- + oxygen

Aiexide d\lomflyl

A student investigated photosynthesis using pondweed.

Figure 14 shows the apparatus the student used.

Figure 14

Oxygen _

Water level _ | ?°
]

This is the method used.

-

. Set up the apparatus as shown in Figure 14.

2. Switch on the lamp.

4] - Measuring cylinder

| — Water
Lamp with
60 watt bulb v
-~ Funnel
_—— Pondweed

3. After 20 minutes, record the volume of oxygen collected in the measuring cylinder.

4. Repeat steps 1-3 using bulbs of different power output.

%

L

1B/M/Jun19/8461/11F
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[0]9].[2] What was the independent variable in the investigation?

[1 mark]
Tick (v') one box.

Power output of bulb \/'

Rate of photosynthesis

Time to collect oxygen

Volume of oxygen collected

E Suggest two ways the method could be improved so the results would be more valid.
[2 marks]

1 Q—Q‘P&v& the lnuég‘h:q}aierch e g.zf An
ot o “the ~esualfs

Do not write
outside the
box

2 Ccm'?rvl 21:!-»-6 Conentcakee Carbon diexdl

Question 9 continues on the next page

Turn over p»

3 9
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Don%lewr,;'le
. outside the
Table 9 shows the student’s results. box
Table 9
Power output of bulb Volume of oxygen Rate of
in watts collected in photosynthesis in
20 minutes in cm® cm®/hour

60 05 1.5

100 0.8 24

150 1.1 X

200 12 3.6

250 1.2 36

Ag- IS =o0-4
[0]9].[4] Calculate value X in Table 9.
[1 mark]
-4+ + ©0-4
X= 3% cm*hour

:
e

4 0

1B/M/Jun19/8461/1F
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5

[9].[8] Complete Figure 15.

You should:

label the x-axis
use a suitable scale

draw a line of best fit.

Figure 15

v !
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i i
i i
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B
{

4.0 , ?

Rate of

[4 marks]

plot the data from Table 9 and your answer to Question 09.4

in em3/hour

2.04 :
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[0]9].[6] Determine the expected rate of photosynthesis with a bulb of power output 75 watts.

Use Figure 15.

(-8

[1 mark]

Rate of photosynthesis at 75 watts =

(-8

ecm®hour

M

Turn over »

1B/M/Jun19/846111F

Do not write
outside the
box



—

42

Tick (v) one box.

'y
Rate of
photosynthesis
Temperature -
Z 3
Rate of
photosynthesis
Temperature !
£y
Rate of _
photosynthesis .t
Temperature
L 3
Rate of
photosynthesis
Temperature -

END OF QUESTIONS

i

' [0]8].[7] Which graph shows the effect of temperature on the rate of photosynthesis?

[1 mark]

'| Do not write

outside the
box
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